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NOTE

This paper has Two sections, Section-A : General Mathematics : Q. Nos. 1-25 and Section-B :
Computer Knowiedge : Q. Nos. 26-100.

This question booklet contdins 100 questions numbered from 1 to 100 and each question carries 1 mark.
All questior}s are compulsory. There is no négative marking.

Tally the number of pages along with no. of questions printed on cover page of the booklet. Also check
that question booklet contains the questions of all relevant subjects/topics, as required and stated
above and no repetition or omission of questions is evident. '

If any discrepancy is found in the Question Booklet, the same can be replaced with another correct
Question Booklet within first 15 minutes.

Before answering the questions please read carefully the instructions printed on the back cover page of
the question booklet and strictly follow them. Indicate your answers by blacking circles carefully
only on the O.M.R. Answer Sheet provided. :

Use of any type of calculator, mobile phone or any other electronic equipment and log table etc. is

strictly prohibited.
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1.

0f715?

1 1 illbe:
If T 0-0276 , then the value of 00003618 will be :

(A) 2:76

(B) 276

(C) 2760

(D) 27600
wﬁﬁ:o-oam,-«hmw
(A) 276 '

(B) 276

(C) 2760

(D) 27600

oH 8 :

What s the least number by which 825 must be multiplied in order to produce a multiple

(A) 13

(B) 15

C) 11

(D) 3

825 i Tore SISt A Vi TEAT BRI TON fRall ST TR OFFRe 715 1 3799 B ?
(A) 13 L

B) 15

©€) 11

(D) 3

How many numbers between 100 and 300 which are divisible by 13 ?

(A) 15 (B) 16
(C) 22 | , (D) 23
100 T 300 & site § fopamt deamd & St 13 9 fawfsm @ g 2
(A) 15 - (B) 16
(C) 22 (D) 23

A-Set APDT—§II/1’3-‘-A—p‘a59e'-7 o 71




2 15 7 3
What smallest fraction should be added to (— X =X —X —j to get a whole number ?

5 21 10 8
9 Co 37
™ 55 ® g
19 39
© 3 © 5
2 15 7 3) . .
9 37
™ 3 ® o5
19 39
© > D) 20

The value of 202X 009+ 005x 004+ 904004 iy e -
e value o 005 % 005 x 005 _ 004 X 0-04)( 004 i :

(A) 0-01

(B) 0-09

(C) 10

(D) 100
005x005+005x004+004x004 _
0-05x 0-05x 0-05 — 0-04 x 0-04 x 0-:04

(A) 0-01

(B) 0-09

(C) 10

(D) 100

HF BIT :

If 40% of a number is 360, then 20% of 20% of that number will be :

(A) 36 (B) 360
(C) 18 | (D) 180
Tfs et T 1 40% e ¥ 360 B, @ 39 TEA & 20% H 20% B ;
(A) 36 (B) 360
) 18 o (D) 180

APDT—'Ii/13-A—page-8 A A-Set



10.

In a division sum the quotient is 105, the remainder is 195 and the divisor is the sum
of the quotient and the remainder, then the dividend will be :

(A) 31505 ‘ (B) 31695
(C) 32595 (D) 30695
N R TH Y H AETHA 105, 99 195 T AT s & YIRS T A9 & A1 6, T 9Iog 2097 ¢
(A) 31505 (B) 31695
(C) 32595 (D) 30695

The marked price of a radio is Rs. 480. The shopkeeper allows a discount of 10% and
gains 8%. If no discount is allowed then what will be his gain per cent ?

(A) 20% (B) 18%

(C) 15% ' (D) 12:5%

T A F1 Sifehd Yo 480 %. ¥ 1 AT THFER 3/ 10% i B SHT =l §, A 38 8% o1 oIy
Brar ¥ 1 A a8 w1 B T2 A S Fras wiawrd w1 eny S ?

(A) 20% (B) 18%

(C) 15% (D) 12:5%

A milkman buys some milk. If he sells it at Rs. 5 a litre, he losses Rs. 200, but when he
sells it at Rs. 6 a litre, he gains Rs. 150. How much milk did he purchase ?

(A) 250 litres (B) 350 litres

(C) 300 litres (D) 280 litres

T Y T IR F 59 BRI ¢ 1 S 95 39 5 T0 9 fere & X F S=an 7, 39 200 TR
w1 B B &, AfE a5 39 6 T i forex =61 <0 @ 5= &, @ 9 150 T 1 A0 B ¥ 1 I
foram foe gu =it o 2

(A) 250 ferex (B) 350 ferex

(C) 300 ferex (D) 280 ferex

A positive number is divided by 5 instead of being muitiplied by 5. What per cent is
the result of the required correct value ?

(A) 4% ' - - (B) 5%

(C) 20% (D) 25%

ot eTeren Tea 9 5 9 T A R SRTE 5 | oI R R T | wra 3w |t 9 w1 fRa wfaera
g7 | : ’

(A) 4% (B) 5%

(C) 20% (D) 25% -

A=Set APDT~11/1‘33-A‘;p‘ég“e;9' | 7-1




11.

12.

13.

if the annual increase in the population of a town is 4% and the present population is

17,5676, what was the population 3 years ago ?

(A) 15,025 - (B) 16,525

(C) 15,625 (D) 16,625

Ffe frdl vt =) SEE ¥ 4% =t wnftie gfs 3 ¥ 9o 39 el ) adum seEE 17,576 €,

o 3 oo g SHgEdr fadA o ?
(A) 15,025 (B) 16,525
(C) 15,625 (D) 16,625

Four-fifths of a number is more than three-fourths of that number by 4. What will be
one-fourths of that number ?

(A) 8 , (B) 10
(C) 16 (D) 20

mﬁmm%mwmaﬁeﬁmﬁmﬁmmﬁm%.wmww-ammm
2 2

(A) 8 (B) 10

(C) 16 ’ (D) 20

A garden has total 1,500 trees. %th of the trees are mango-trees, i-th of the remaining

are orange-trees and rest are apple-trees. What is the number of apple-trees ?
(A) 175 (B) 225
(C) 250 (D) 275

e S e 1,500 3§ %mﬁgamaﬁ%magm s o e 2

#1 9w % ¥t %1 wew e ¥ 2 |
(A) 175 A (B) 225

(C) 250 (D) 275
7-1 APDT-II/13-A—page-10 A-Set



14.

15.

16.

If a man sells two cows for Rs. 7,820 each, gaining 15% on one and losing 15% on
the other, what is his total gain or loss ?

(A) gainof Rs. 340 ‘ (B) loss of Rs. 350

(C) loss of Rs. 360 E (D) neither gain nor loss

Ifs T =afe M A 7,820 T Fi A W TH THER A= ¢ R v T I 15% w:

| Y A I A W 15% T @ ot ¥, S R R a a w ad § 2

(A) 340 % =N : (B) 350 %. 7y
(C) 360%. = " (D) AEmwAEE

The price of an article is increased by 10% and then it was decreased by 10%, then
what will be the net increase or net decrease per cent in the price of the article ?

(A) 1°/o increase : (B) 1% decrease

(C) Neither increase nor decrease (D) None of these

forelt g 7 HI 10% g fR 3/ 10% 1 o R T @ 39 g Y F ¥ At
i sreen arfes HH fwa airea &t el 2

(A) 1%3fg | (B) 1% =t

(C) qm%q&; (D) saﬁ@aﬂs‘aﬁ

A sum of money at simple interest per annum amounts to Rs. 600 in 4 years and
Rs. 650 in 6 years. What is the per cent rate of interest perannum? _ .

(A) 5% \ (B) 10%

(C) 16% - (D) 25%

FE o TR T S Y <X A 4 7 & 600 % 7 6 7 & 650 % B < ¥ | o i
v ) o e # 2 |

(A) 5% (B) 10%

(C) 16% | ‘ (D) 25%

A-Set APDT-II/13-A—page-11 ~  7-1.




17.

If the interest on Rs. 1,200 more than the interest on Rs. 1,000 by Rs. 50 in 3 years,
what is per cent rate of simple interest per year ?
(A) 6§% (B) 5%
(C) 8% (D) 719,
3 - 2
Ifg 338 # 1,200 . H1 =4 1,000 T o =11 § 50 793 31fereh &, o Wremor gfaera At s
H R fopat & ?
® 6% ®) 5%
©) 8% | (D) 719
3 2
18. If the compound interest on a certain sum of money for 2 years at 10% per annum is
Rs. 420, then what will be the simple interest at the same rate and for the same time ?
(A) Rs. 360 (B) Rs. 380
(C) Rs. 396 (D) Rs. 400
G 10% =<1 1 < |/ THTt o7 H1 2 T8 &1 Tehgfg =9 420 . &, T SH 87 &1 397 & 999
1 IERY =S fhan €93 grm 2
(A) 3607%. (B) 380%.
(C) 3967%. (D) 400%.
19. A rectangular water tank is 90 cm wide and 40 cm deep. If it can contain 576 litres of
water, then what is the length of the tank ?
(A) 144 cm (B) 160cm
(C) 172cm (D) 180.cm
T SRR ] 1 3% 90 =gt qen 40 I e 1 AfE 39 576 faex un ot ®, @
S| v e § 2
(A) 144 I+ ‘ (B) 160 &=
(C) 172 9+ (D) 180 &+t
7-1 APDT-II/13-A—page-12 A-Set



20. The diameter of the wheel of a car is 70 cm. How many revolutions will it make to

21.

- 22,

‘ , 22
travel 1:65 km ? (n = 7)
(A) 500 (B) 750
(C) 1,000 (D) 1,250

@w%mmmm@ﬁ%z 1 GSWﬁiﬁmmﬁuﬁmmﬁwmﬁm ?

(A) 500 (B) 750
(C) 1,000 ' (D) 1,250

If the radius of a cylinder is doubled and the height is halved, what is the ratio betweenv
the new volume and the previous volume ?

(A) 4:1 ' B) 1:4

€ 2:1 | (D) 1:2

f et Srer w1 e Y I A e ST AT SHET e I S W A T A Y A
TG YT o HAFTT T ST foha 1 B ?

(A) 4:1 | B) 1:4

(C) 2:1 (D) 1:2

How many co\ins, each of radius 0-75 cm and thickness 0-2 cm to be melted to make
a right circular cylinder of height 8 cm and base radius 3 cm ? |
(A) 460 (B) 500

(C) 600 ' (D) 640

0-75 &t firwan e O zaﬁrqﬁmﬁﬁmﬁﬁﬁawmﬁﬁéwﬁﬁwmaﬁﬁ—m
1 T AR S AR S o et ¥ 2 '

(A) 460 (B) 500

(C) -600 (D) 640

A-Set - APDT-II/13-A—page-13 7-1




23.

If the cost of 2 horses is equal to the cost of 3 cows and cost of 5 cows is equal to the
cost of 12 sheep and if cost of one sheep is Rs. 250, then the cost of one horse will
be: | |

(A) Rs. 500 (B) Rs.750

(C) Rs.900 (D) Rs. 1,250

Ifz 2 SISt ) FIHT ISR & 3 M B FHG B a1 5 A B B SO T 12 VS F w5 B
3R afs T U FY HIHd 250 F. T, W TH 0SB HEG A0

(A) 500 =. (B) 750%.
(C) 900%. (D) 1,250%.
24. If by selling an article for Rs. 100 there is the profit of Rs. 25, then profit per cent is :
5 _
(A) 205% (B) 25%
1
(C) 333% (D) 35%
Iz fordll I%g 1 100 %. H 9= W 25 T. 1 @14 Bl &, T gfowrd o €
an 2 - :
(A) 205% : (B) 25%
1 .
(©) 335% , (D) 35%
25. Arod of Iengfh 4-5 kilometres is cut into pieces of equal length, each of 12:5 decimetre
long, then the number of pieces will be :
(A) 30 | (B) 36
(C) 360 (D) None of these
4-5 freiiex ot B H THE § 79 THR HRI T 5 J3H THS i e 12-5 S e, @
(A) 30 (B) 36
(C) 360 (D) T8 A wE TE
- 7-1 APDT-II/13-A—page-14 A-Set



SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
T & & ford e
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\26. In C language, how many number of relational operators exist ?
A 7
(B) 8
(C) 6
(D) 4

T e H, Rt sifey st Sem e 2.

(A) 7
(B) 8
¢ (© 8
(D) 4

27. C program is converted into machine language with the help of :
(A) An editor
(B) A compiler
(C) An operating system
(D) None of these
FF'TQ}I"JITET ................... % Tee & e sy A e fren s &
(A) T
(B) TH HHIEeR
(C) = sffifen fawew
(D) = 9 = 7

. 28. C variable name cannot contain.................

(A) Blank Space "
(B) Hyphen
(C) Decimal Point

(D) Allof these
ot IRerer = #, Far wnfaer T R 9w § 2
(A) =i &
(B) wIsHA
(C) Zdma ufgw=
(D) J =it

A-Set . APDT-II/13-A—page-21 7-1




29. The memory address of the first element of an array is called :
(A) Floor address
(B) Foundation address
(C) Firstaddress
(D) Base address
T W& Te0! Telive % HE VS Tl el 9
(A) R A
(B) HISUSYE TEH
(C) w Tgw
(D) == qEH

30. When a function calls itself, it is called :
(A) Recursion
(B) Binary Search
(C) Function calling
(D) None of these
T HRI 1 GE ! HicT HET, HRAN S &
(A) fereie
(B) = W
(C) R Wit
(D) =T & # 7

31. Which of the following case does not exist in complexity theory ?
(A) Best case
(B) Worst case
(C) Average case
(D) Null case
1 § | A H8 FrfEd = d A W E 2
(A) = Pw ‘ |
(B) a= =
(C) TR™ %¥
(D) @ %9

A-Set



33.

34.

. Which of the following data structure Store homogeneous data elements ?

(A) Array

v (B) Records
“(C) Bitwise

(D) None of these
ﬁwﬁf&aﬁﬁﬁw@awﬁﬁﬁw@aaﬁ@wm%’
(A) @

(B) frridw

(C) fereamw

(D) THIAFE T

The term ‘push’ and ‘pop’ is related to :
(A) List

(B) Array

(C) Stack

(D) All of these

o1 g’ oIk T @ wrafa ©

(A) o= -

(B) ®

(C) &=

(D) 3 |t

- A situation TOP = NULL, when we want to delete an item from stack, is called

(A) Underflow

(B) Overflow

(C) Housefull

(D) Saturated

T feafy 2 = 991, 99 79 OF A TF 35T F) T2 98 ¥, FEA Y ¢
(A) sl

(B) hewdl

(C) w=awEa

5

(D) ¥gifes

A-Set _ APDT-II/13-A—page-23 7-1 .
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35.

36.

37.

The number of attributes is relation is called as :
(A) Cardinality

(B) Degree

(C) Tuples

(D) Entity

ferer & fordroramatt =1 T Y et ST ®

(A) wrrEafast

(B) feut

(C) =
(D) ufed

The DBMS utility, ............. allows to reconstruct the correct state of database from the
backup and history of transactions.

(A) Backup

(B) Recovery
(C) Monitoring
(D) Data loading

A o T T, w1 % S SR sfrer S A wd et A e
gufed A & o safa 2 ¥

(A) T

Inthe ..oo......... normal form, a composite attribute is converted to individual attributes.

(B) Second

(C) Third

(D) Fourth

...................... :ﬂﬁﬂmﬁ,.@mﬂﬁh ﬁ ﬁ mﬁ‘\ﬂ » ﬁagaaﬁ’;%q

-7
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38.

39.

40.

In RDBMS, Data is presented as a collection of : '
(A) Table (B) Attributes
(C) Relations (D) Entities
TR €t ot ww wE H, 21 9UE 9w § uwqg e wmar € 2
(A) 25T ' (B) =g
(C) T (D) uf=el
A normal form normalization will be needed where all attributes in a relation
tuple are not functionally dependent only on the key attribute.
. (A) First (B) Second
(C) Third (D) Fourth %
......... ?Tﬁﬁ T}TTI? ?ﬁﬁ@m ﬁ ST _iﬁ"'ﬁ, & TH ﬁﬁ?ﬁ A | T:FT '{{‘lﬂ w’
I (Key) tEee W waeHel fR 78 & |
(A) v (B) fexta
(C) T (D) =%
To select all columns from the table the syntax is :

(A} select all from table_name

(B) select - from table_name

(C) select from table_name

(D) none of these

ot Q wft e 1w wA @ fon faRem ¥

(A) fodiee sifet wia 2se_a9 |

(B) fode » wid e1_AH ,

(C) fodwe Wi 3w 3w .

(D) & & WiE &
41. |[f an attribute of a composite key is dependent on an attribute of the other composﬂe

K&y ..oovvrrennnn normalization is needed. i
(A) DKNF (B) BCNF
(C) Fourth (D) Third
ammmmﬁzﬁmwrmm*ﬁzméwmgmﬁﬁt%m """"""" »
AT HY T B ,
A FITETH (B) st @ wh
(€) < - (D) T
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~42. |dentify the criteria for designing database from the point of view of user :
(A) No redundancy
(B) No inapplicable attributes
(C) Uniformity in naming and definitions of the data items
(D) Al of these ' - |
SR w5 gfe & STeRw feu w0t @ Ry AeTe ) TeeE SR
(A)  fe=e=i
(B) N T A
(C) T 3R ST eMgeH 1 UReT # e
(D) T

43. The.....ocoeeeee. operator preserves unmatched rows of the relations being joined.
(A) Innerjoin
(B) Outerjoin
(C) Union
(D) Union join : ' f .
....................... Nﬁiﬂﬁé‘m%ﬁ?@flﬁhﬁsﬁ@,ﬁgﬁmm%
(A) TR S
(B) a3 e
(C) afrr
(D) AfrR e

44. Which of the following is not a outer join ?

(A) Leftouter join -

-(B) Right outer join
(C) Full outer join
(D) None of these
frafafen & ¥ HT9 T TS g /I T ?
(A) TR SR S
(B) g M SifsT
(C) & ot e
(D) A9+t
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46.

. The DBMS acts as an interface between what two ccomponents of an enterprise-class

database system ?
(A) Database application and the database

(B) Data and the database
(C) The user and the database application

(D) Database application and SQL
ﬁwwmmﬁmﬁmﬁﬁa@m%mﬁmm%7
(A) eREY AehyE AR SeRY

(B) eI R SREY -

(C) SudrTEFl IR SREE WP yH

(D) wrerw tfeye ok toEE

DBMS is a collection of .................... that enables user to create and maintain a

~ database.

(A Keys

47.

(B) Translators

(C) Programs

(D) Language Activity
TRTTHTE T W%Wmﬁ@maﬁaﬂrﬁ%ﬂwﬁﬁmﬂm

AT R | | |

(A) ®IH

(B) gt @

(C) i =it

(D) s wrffafi e

In a relational schema, each tuple is divided into fields called :.
(A) Relations '
(B) Domains

(C) Queries

(D) All of these ‘ B
frorvme i #, el ader Fiegd | fawifsa feman sman &1
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48. InanERmodel, ... is described in the database by storing its data.
(A) Entity
(B) Attribute
(C) Relationship
(D) Notation
.gaﬂ_{.q\fgaﬁ, ..................... mm%mmﬁaﬁﬁﬁ%l
(A) TR
(B) e
(C) fwmfim
(D) Rwm

49. DFD stands for:
(A) Data Flow Document
(B) Data File Diagram
(C) Data Flow Diagram
(D) Nore of these
€}t <€ w1 HaeE
(A) ST T SlRfA
(B) 3R wEd SEWH
(C) <STI %l BEu™
(D) ¥ q = T

50. A top-to-bottom relationship among the items in a database is established by
- SR .

(A) Hierarchical schema
(B) Network schema |
(C) Relational Schema
(D) All of these

@m%mﬁ ..... everererenans %mwaﬁmwﬁamw%l
(A) feufeeral =R
(B) @ i
(C) Rowra @i
(D) 2 =it
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51,

52.

53.

i i, table store information about database or about the system.
(A) SQL

(B) Nested

(C) System -

(D) None of these

TEEH ® IR A F TR B AR 07 I ARHRI Tl B

(A) THEHTA

(B) 7=s

(C) fown

D) w7 q ®E T

................... defines the structure of a relation which consists of a fixed set of attribute-
domain pairs.
(A) Instance
(B) Schema
(C) Program
(D) Super Key
.............. RSN @ﬁﬁmaﬁmaﬁwﬁmﬁam% Gﬁiﬁa{a@ﬁﬁﬁ%aﬁwﬁﬁm@z%
;W

A) TRH

(B) wri

(C) o=

(D) R =

...................... clauseis an additional filter that is applied to the reéult.
Select WIROTE
Group-by 2.

C) Having

D Order by

................ mew%ﬁwmmmm%i

(A) Toawe

(B) ¥I-=%

(C) fem

(D) s

T2

B

S p—
e
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54. A logical schema :

55.

56.

(A) Isthe entire database

(B) Is a standard way of organizing information into accessible parts
(C) Describes how data is actually stored on disk

(D) All of these

AfSTehe @hiF! ;@

(A T EREY

(B) &Y UMl H MR & SATESH F1 LTS i ¥

(C) =raman % o & drera o fevar W Wi Brn @

(D) |+t

.................... is the full form of SQL.
(A) Standard Query Language

(B) Sequential Query Language
" (C) Structured Query Language

(D) Server side Query Language

The candidate key that you choose to identify each row umquely iscalled................. .
(A) Alternate Key

(B) Primary Key

(C) Foreign Key

(D) None of these

%%@zﬁ(Key)sﬁmﬁﬁﬁﬁmm@qﬁmﬁ%m%fﬁw% ------------- FeTA E1

(A) STEETRE F1 (key)
(B) wizmd =t (key)
(C) Wi =t (key)
D) 38 @ % 7

7-1
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57. e, is used to determine whether a table contains duplicate rows.
- (A) Unique predicate
(B) Like predicate
(C) Null predicate

(D) Inpredicate

..................... WWW%WE?Q@WﬁWdQﬂﬁQW*dﬁ%?
(A) Fitw feshe

(B) wmes dfsshe

(C) - dfswhe

(D) 37 dfewe

58. To eliminate duplicate rows ............c.c..e...... is used.
(A) NODUPLICATE o
(8) ELIMINATE
(C) DISTINCT
(D) None of these ‘ -
ey TRed B T W Ry v e
(A) Tgwihe ' :
(B) etz
(C) fefesw
(D) %8 @ =i T

59. State True or False :
(i) A candidate key is a minimal super key.
(i) A candidate key can also refer to as surrogate key.
(A) i-true,ii-false
(B) i-false, ii-true -
(C) i-true, ii-true
(D) i-false, ii-false
e A1 T qARY
(i) HfezastTs =q\=ﬁm T FHit %
(ii) %Fs@zﬁaﬁﬁzwﬁ%mﬁ%ﬁsﬁf@ﬂaﬁmm%l

(A) -G8, ii-Tea
(B) i-Trem, ii-wY
(C) i-wdl, ii-wdt

(D) i-TTer, fi-Ter
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60.

61.

62.

DCL standsfor:
(A) Data Control Language
(B) Data Console Language
(C) Data Console Level
(D) Data Control Level
THTA R QU AR T :
(A) BRI el ras

) ST HE e
(C) w1 wHIe oioe

) BRI I e

...................... is the process of organizing data into related tables.
(A) Normalization

(B) Generalization

(C) Specialization

(D) None of these

....................... Hafaam%waﬁﬁgmw mwaﬁm%l
g

A, does not have a distinguishing attribute of its own and mostly are
dependent entities, which are part of some another entity.v

(A) Weak entity

(B) Strong entity

(C) Non-attributes entity

(D) Dependent entity

..................... T mﬁmwﬁ%mmﬁﬁ{m%ﬁwmmw
fewm 1 |

(A) ot Tied

(B) wimuf=d

(C) -z ufedt

(D) fetre= wi=dt
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64.

65.

....................... is the complex search criteria in the where clause.

{A) Substring (B) Drop Table
(C) Predict (D) Predicate
.................... WWT%&WNE@@HNW&W%l '
(A) wafeg (B) g9 W

(C) fufesx (D) Yfswe

.................... is preferred method for enforcing data integrity.
(A) Constraints o

. (B) Stored Procedure

(C) Triggers
(D) Cursors

Operating system serves as an interface between the userand .................

(A) Hardware ’

(B) Multithreading

(C) Deadlock ,

(D) None of these '

mm,maﬁt ...................... @aﬁa@‘@'{q‘)ﬁ%mﬁmm%l

(A) wEaAW
(B) weetdfem
(C) ol
(D) T A HE T
66. Which of the following is not an example of operating system ?
(A) Filezilla (B) Windows XP
(C) Windows 7 (D) Windows Vista
et 3§ @ B SR fowew &1 U AR TE R 7
(A) Trafser ' (B) faerst wermdt
(C) =7 ‘ (D) foe= fa=n
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67. Which is not the function of the Operating System ?

(A) Memory management

(B) Disk management

(C) Application management

(D} Virus Protection -
FrEr ArRfen fowen &1 o e § 2
(A) G geEA

(B) few=r waem

(C) U™ yaud

(D) STaRE FRET

' 68.

69.

The full form of RTOS is :

(A) Real Time Operating System

(B) Rich Time Operating System

(C) Reverse Time Operating System
(D) None of these

RTOS ®#1 QUM ¥ :

(A) Tze erem sAfRfen fawen

(B) T argm sirmfen fawem

(C) Rad zrm Afqfern faw=n

(D) ¥ | = &

Which operating system has a command-line interface ?

(A) Windows 8
(B) Windows XP
(C) Windows 7
(D) MS-DOS

Waﬁ%ﬁwﬁmwm—wm%7

(A) faS= 8
(B) oS wradi
(C) fEEm7
(D) wHTH-T™

7-1
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70. Which Windows program is used to manage folders and files ?
(A) Windows Explorer |
(B) Windows Accessories
(C) Control Panel

(D) None of these
ﬁwﬁmmwaﬁxmwwmm%%fmmﬁmw%7
(A) T TR

B) o Tt

(C) g T

(D). 7 @ ®IE T

71. Which of the following is a CPU scheduling algorithm ?
(A) Round Robin
(B) Semaphore
(C) Deadlock
(D) Real Time
T/ B T Wy egfe Ao ¥ 2
(A) ST Al
(B) |"ER
(C) Z=at® _
(D) e e

72. Which of the following is not the state of the process ?

(A) Blocked '
(B) Running
(C) Ready
(D) Between

IR RE R 7
(A) =l ‘
(B)
€) =
(D) ﬁﬁiﬁ:{
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73. Number of processes completed per unittime is known as ................. .

74.

7.

(A) Output

(B) Throughput
(C) Efficiency
(D) Capacity

J9 Y T, aﬁwﬁrmwﬁwﬁ%% """"""""" H w9 T S S R

(A) sTEeqe
(B) I3

(C) ufwferawsi
(D) Hifa

FIFO schedulingis .........c.cccc..... .
(A) Pre-emptive Scheduling

(B) Non-pre-emptive Scheduling
(C) Deadline Scheduling

(D) Fair share scheduling

(A) it-Tefes regfer
(B) A sh-wfem gzt
(C) Zswmea drgfem

(D) e SR Sregfei

A binary semaphore :
(A) has values one or zero
(B) is essential to binary computers
(C) is used only for synchronisation
(D) is used only for mutual exclusion
TF SR VAR
(A) = dog T A I A T
) e FpEd & fo s &
(C) fomrmssvm & forw & waw foran s &
(D) YT TFEaRSH o fore € wEnT foran i ®

7-1
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76. Which of the following is a not included in the process control block ?
~ (A) Process State
(B) ProcessID
(C) VO Status
(D) Process Quality
39 A T N Fore i d e e R 2
(A) ToE v
(B) W& e
(C) oTg/sT wew
(D) ¥ wafere

77. The following is not an attribute of a file :
(A) Name
(B) Type
(C) Protection
(D) Virus
frfafes = wea = feege T
(A) |
(B) =iz
(C) dwi=em
(D) arrE

78, ., is a file access method.
(A) Sequential
(B) Two-Level
(C) Three-Level
(D) None of these
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79.

80.

81.

Acyciic-Graphisakind of ................ ..... Structure.
(A) File

(B) Directory

(C) Semaphore

(D) System Protection

(A) wrEe

(B) srrE=d

(C) VwHR

(D) To=w drwwm:

Which of the following is not a file operation ?
(A) Create

(B) Read

(C) Write

(D) Implementation

T Q P T FEA ARYE T ¥ ?

(A) T '

B) s,

(C) T=e

(D) sfem=yA

The e, is not an archive file extension.
(A) .arc
(B) .zip
C) dtar

7-1
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82. .. initializes the objects moment they are created.
(A) Parameters
(B) Arguments
(C) Constructors
(D) Classes

........................ maﬁwwmm%’mwmﬁa%l

83. Thelinuxcommandls -alists .................. .
(A) Password files
(B) Alifolder and files and also Hidden files and folder
(C) Zip files -
(D) Archive files

(A) IEEE wiEc

(B) Wit wieet oi wrea ofk gt g Wl and wHeey o
(C) 19 wged

(D) eTeRiEa HrE

84. In Unix which command will create a .gz compressed file ?
(A) gzip
(B) czip
(C) tzip
(D) czip2
I H S HAS Th gz FHES HEd ST ?
(A) Sffsma
(B) wifyu
(C) AfSuw
(D) wifsa2
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85.

86.

87.

The command is used to change the permissions of a file or directory is :
(A) chmod

(B) chmo

(C) chemo

(D) chemod

FATE S HIEeT A1 TTAEE] UFHYH 1 seaq % fo yanT frar s ®

(A) Heemrs

(B) wrge

(C) wru=gar

(D) we=EHrs

Which Unix command is used to sort the lines of data in a file in reverse order ?
(A) sort

(B) sh

(C) st

(D) sort-r :

IR FHIS S TH RS H ST F ufhAl i 3 FH A WiE HW B ferw waAm w1 e ¥
(A) @i ‘

-(B) T

(C) ww
(D) Wr-3r

Which command is used to remove a directory ?

(A) rdf

(B) rmdir

(C) didir

(D) rdir

I FHS T THER H g s & forg waet &t ot €
(A) RETH

(B) STRUAEIAEIN

(C) SrTElmEam

(D) oEtMER
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88.

- 89.

90.

91.

Linuxis .....ccccooeeveennene. software. , _
(A) Open Source | (B) Proprietary
(C) Application (D) None of these
ﬁ_'HEFH ......................... m%‘

(A) i o (B) Tt

(C) Rcelichort (D) v} A 7
The Statement in C, for (;;); is :

(A) Syntax error ' (B) Infinite loop
(C) Conditional statement (D) None of these
WA RFA=R WK (); ¥

(A) fawm Afe | (B) o Td

©) wdwRg= (D) v & =g e
Which of the following is not a branching statement in C ?
(A) Switch B) IF

(C) While - - (D) None of these
frer 3 A HFE S S A ¥ 2

(A) fe= (B) =%

(C) == (D) 78 9 =g &

What is the full form of JVM ?
(A) Java Visual Machine
(B) Java Virtual Machine
(C) Java Visual Mac

(D) Java Voice Mechanism
SefTTH T QU AH FAE ?

(A) S fagera A

(B) Sian SgeTe Hei

(C) <iran fagsre A

(D) < itz Ffim
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92.

93.

94.

The full form of PPP is :

(A) Print to Print Protocol
(B) Point to Point Protocol -
(C) Point to Print Protocol
(D) None of these
MTHRAFWEIR

(A) e T fie ddpia

(B) e T wise Wihie

(C) wifse 2 fi Trkta

(D) ¥ & FF T

Internet addresses are assigned by:

(A) TETF

(B) IEEE

(C) INTERNIC

(D) None of these

m@g ......................... Eﬁmmw%l
A) AIATH

(B), smW¥Ig

(C) sexTHemsH

(D) ¥ =K &

Inventor of WWW is :
(A) Bill Gates
(B) Robert Tannenbaum

- (C) Tim Berner Lee

(D) None of these

7-1
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95. Which language is used in web designing ? e
(A) C+ |
(B) Fox Pro
(C) TFTML
(D) HTML
a9 fesmsfm & g s o1 wadm fepr Srar € 2
(A) i+
B) wewW
C) dwd T
(D) waA T

96. What is full form of LAN ?
(A) LongArea Network
(B) Live Area Network

~ (C) Local Area Network

(D) Lost Area Network
TR QWEIFRNE ?
(A) if ol Yoo
(B) e TR Aeah
(C) <iet ufan Aeas
(D) wre ufn Aeas

97. Which of the following is a web browser ?
(A) -Netscape
(B) World Wide Web
(C) Launcher
(D) Web Crawler
fre 8 QU A9 WSS R
(A) =Ry
(B) uee A aw
(©) @R
- (D) a9 wie”
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98.

99.

100.

.Net is product of which Company? ~ " ="

(A) Sun

(B) Oracle

(C) Microsoft

(D) Adobe
RIFgFTN H IACET ?
(A) &

(B) e
(C) wmgshreRe
(D) ==

C language has been developed by ............. :

(A) Ken Thompson
(B) Dennis Ritchie
(C) Peter Norton

(D) Martin Richards

Which of the following is an example of unary operator in C ?

(A) |
(B) +
C) &&
(D) ~
= # 9, 9t § A SiRe &1 ST ¥
(A) ]
(B) +
(C) &&
D) ~
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faN

SPACE FOR ROUGH WORK
T & & o =

A-Set
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SPACE FOR ROUGH WORK
T & & T s

71
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| SEAL

INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

W9l ® ITY aA E
et

(Please use Black ball-point Pen)
1. Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

2. Valuation Procedure :

There are four probable answers to a question,
only one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will
be presumed that the candidate does not know

the correct answer, hence, no mark shall be
awarded.

3. Cancellation or Change in Answer :

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator : '

(i) Please ensure that all entries in the answer
+ sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(i) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

5. Care in Handling the Answer Sheet :

While using answer sheet adequate care should
be taken not to tear or spoil due to folds or

wrinkles.

_méﬁaﬂaﬁmz

(FTET Black ball-point U= ST W& &)

IW A & fTT OMR SH-gfasht § graf-od wea &
I H 53 T4 AR Tien #§ ¥ fad U WA w1
HIAT HTIY |

T g |

YT T B AR HId I, TTH D HAd Th IW
TE ¥ | I 1 TEl IR 3ifhd B A Teh 3 W
B | ofe Tes @ st el St foed S E A g A
S foh ateel =Y gt ot T SRR e E § or:

I S 31 A T S

I T R /T 1 A

IR AR FA & A s aa A R ™

T & T Y SEEr TEE TE B | 3T : S BT

el WA & g8 Te! I 1 AT WEUFTIEE Hife |

-V Arereh oY WO ;

{i) oerw =1 IT-3Me G & vt GAfvwd s
o -3tz & M Y=l W gt gfear S|—=m,
A TR, TR, TGO B TR
fruifia v w S-did M §

(ii) Tt oA aftenfeal S wom-yftTent o
wﬁaﬁaﬁm@ﬁ%l

I-Yiie & ST H R

IT-¥E T TART HT YWT T T & Fagt & d |
3 WY, e I etz TS A EUa T e © |
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